
6.3 Completing the Square                NAME:__________________________ 
 

          DATE:_______ 
 
Solve the equation by completing the square. 
ଶݔ  .1 ൅ ݔ14 ൌ െ45 
 
 
 
 
 
 
 
 
 
 
 
 

ଶݎ  .2 െ ݎ4 ൅ 49 ൌ 0 3.  ܾଶ ൅ 8ܾ ൅ 85 ൌ െ10 

4.  ݊ଶ ൅ 6݊ ൌ 72 
 
 
 
 
 
 
 
 
 
 
 
 

ଶݒ3  .5 ൅ ݒ12 ൌ െ6 6.  4ݎଶ െ ݎ16 െ 20 ൌ െ5 

Write the quadratic function in vertex form.   
ݕ  .7 ൌ ଶݔ ൅ ݔ4 ൅ 3 
 
 
 
 
 
 
 
 
 

ݕ  .8 ൌ ଶݔ2 ൅ ݔ12 ൅ 22 9.  ݂ሺݔሻ ൌ ଶݔ2 ൅ ݔ4 െ 2 

ݕ  .10 ൌ ଶݔ ൅ ݔ4 ൅ 7 
 
 
 
 
 
 
 
 
 
 

ݕ  .11 ൌ െݔଶ െ ݔ2 െ 3 
 

ݕ  .12 ൌ െ2ݔଶ െ ݔ12 െ 21 
 

Corrective Assignment 

1 



Write the quadratic function in vertex form.  Find the roots. Graph it!  Label the vertex and roots.
ݕ  .13 ൌ ଶݔ ൅ ݔ4 ൅ 2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

ݕ  .14 ൌ ଶݔ2 െ ݔ16 ൅ 30 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ݕ  .15 ൌ െݔଶ െ ݔ4 െ 2 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

ANSWERS TO 6.3 CORRECTIVE ASSIGNMENT 
1. -5,-9 2.  2 േ 3݅√5 3.  െ4 േ ݅√79 4. 6, -12 5.  െ2 േ √2 6.  2 േ √ଷଵ

ଶ
 

ݕ  .7 ൌ ሺݔ ൅ 2ሻଶ െ ݕ  .8 1 ൌ 2ሺݔ ൅ 3ሻଶ ൅ ݕ  .9 4 ൌ 2ሺݔ ൅ 1ሻଶ െ 4 

ݕ  .10 ൌ ሺݔ ൅ 2ሻଶ ൅ ݕ .11 3 ൌ െሺݔ ൅ 1ሻଶ െ ݕ  .12 2 ൌ െ2ሺݔ ൅ 3ሻଶ െ 3 

ݕ  .13 ൌ ሺݔ ൅ 2ሻଶ െ 2 
      Roots = െ2 േ √2 
      Vertex = (-2,-2) 

 

ݕ  .14 ൌ 2ሺݔ െ 4ሻଶ െ 2 
      Roots = 3,5 
      Vertex = (4,-2) 

ݕ  .15 ൌ െሺݔ ൅ 2ሻଶ ൅ 2 
      Roots = െ2 േ √2 
      Vertex = (-2,2) 

 


